Second Paper : Elements of Financial Management

Time : Three Hours Maximum Marks : 100
Attempt any five questions in all, selecting one question from each unit.
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UNIT-I/s&t3-1
1. Define Financial Management. Explain its importance and scope.
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Or
What do you understand by analysis of Financial Statement ? What are
its objectives? Explain its procedure. 6+7+7
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UNIT-I/Z&13-10
2. From the following information, prepare a Balance Sheet of A Ltd :
(i) Current ratio 25
(1) Liquid ratio _ 1.5
(iii} Proprietory ratio (Fixed Assets/ Proprietory Fund) 0.75
(iv) Working capital 60,000
(v} Reserve and surplus 40,000
(vi) Bank overdraft 10,000
(vii) There is no long-term loan or fictitious assets. 20
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(v) wEaUd afas 40,000
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Or

From the following Balance Sheet of M Ltd. prepare a funds flow
-slatement :
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Liabilities 31.3.2009 31.3.2010
Equity share capital 3,00,000 4,00,000
Red. preference share capital - 1,566,000 1,00,000
General reserve 40,000 70,000
P& L Afc 30,000 43,000
Creditors 55,000 83,000
Bills payable 20.000 16,000
Provision for taxation 40,000 50,000
Proposed dividend 42,000 50,000

6,77,000 8,17,000

Assets 31.3.2009 31.3.2010
Goodwill 1,113,000 90,000
Land and Building 2.00,000 1.17,000
Plant 20,000 2,00,0400
Debtors 1.60,000 200,000
Stock ' 77.000 1,09,000
B/R 20,000 30,000
Cash in hand 15.000 10,000
Cash in Bank 10,000 3.000

6.77.000 8,17.000

Additional information (Relating to the year (2009-10) :

() Depreciation of T 10,000 and ¥ 20,000 has been charged on plant
and land and Building respectively.

(b) , An Interim divident of T 20,000 has been paid.

(¢} Income tax ¥ 35,000 has been paid.
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. Explain the meaning of financial forecasting and describe the techniques

used in financial forecasting. 6+14
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Or
Sunil Limited has just been formed the company has a special process
which will enable it to produce a unique product ‘2°, the demand for
which is uncertain :
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Material per unit 2
Labour per unit 6
Variable manufacturing exp. per unit 3
Variable selling exp. per unit 1
Fixed manufacturing exp. ' 24,000
Fixed administrative and selling expenses 72,000

If the selling price is ¥ 20 per unit, how many units have to be sold to (1)
break-even point (ii) make a profit of ¥ 32,000 (iii) make a profit of 20 .
percent on sales. 20
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UNIT-IVEETE-IV
Calculate the operating cycie and the working capital reqmremcms from
the following figures :
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Particular Balance as at Balance as at
st April 315t March
Raw material 20,000 - 1,20,000
Work in progress 20,000 60,000
Finished goods 60,000 20,000
Sundry debtors 40,000 40,000
Wages and manufacturing exp. - 2,00,000
Distribution and other exp. 40,000
Purchase for material 4,00.000
Total sales 10,00,000
{i} The company obtains a credit for 60 days from its suppliers.
(it} All goods were sold for credit. 20
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Or
Explain the meaning of cash management and the principal motives for
holding cash and liquid assets. 6+14
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UNIT-V/ZETE-V
Consider the following data for a certain item purchased by Supreme
Lud. :
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Annual usage 10,000 units

Fixed cost per order TT750

Purchase price T 200 per unit
Carrying cost 20% of inventory value

(a) What is the economic order quantity ?

(b) On the assumption that a°2% rade discount is offered if the minimum
order size is 1,000 units, should the company go in for the trade discount?
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Explain the term “Dividend policy™ and critically examine the essentials

of a sound dividend policy. ©8+12
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